Chapters 13

Sample correlation coefficient
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For testing Ho: p=0 vs. Ha: p#0
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Test statistic thp = 1—r2 has df = n-2
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If tn—2 > ta/ 2,n—2 then reject Ho.

Estimated regression model yi — bo + b1X

The Least Square Estimates are
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Error Sum of Squares SSE = SST — SSR
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Coefficient of Determination

. SR

- SST
_SST-SSE _, SSE_.

SST SST
Standard Error of the Estimate
SSE

S =, |———

¢ n-1-1

R- Squared =

R2

Standard Error of the Slope
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For testing Ho: f1=0vs. Hi: p1#0
The test statistic & C.I. for the slope
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C.1. for the mean of y given a particular x,
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For testing auto correlation Ho: p=0 vs. Ha: p#0
Durbin-Watson Test statistic
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If d > dy don’t reject Ho. Inconclusive otherwise.

, If d < d_ reject Ho.




Chapters 14

Estimated multiple regression model
y=b,+bXx +b,x, +...+b X,

Two variable model is
y=b, +bx +b,X,

e. =Y, — Y, residuals from regression model

Proportion of variation in y explained by all x variables
adjusted for sample size and the number of x variables.
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For testing

Ho: pr=f2=...=Bx=0
Ha: atleastone B; #0
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with df, =K and df, =n—-k -1
Contribution of X; given other X variables
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Coefficient of Partial Determination X; given other
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For testing Ho: #fi=0vs. Ha: i #0
The test statistic & C.I. for the slope pg; are
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The estimate of the standard error of the regression
model
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Contribution of X; given other X variables
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For testing Ho: fc=f4=... =fm=0
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